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38 is the number of protons (in the nucleus)
90 is the number of protons + neutrons

the proton and the neutron do not have mass exactly equal to 1u

binding energy alters the total mass

the mass of all the protons and neutrons is larger than the nuclear mass

the difference between them is given by E = Amc®

2H+iH = iHe

‘mass of left hand side =2 x 2.01410 =4.02820 u
‘mass of right hand side = 400260 u
Am=0.02560 u

E=002560% 1.66 x 107 x (3 .0 x 10%°
382 x1077 =382x10"/1.6x 107 (=23.9 MeV)

BXe+ Usr +4n

i+ BU=
initial neutron
correct muclides
‘numbers all
left hand side 1.00867 + 235.0439 = 236.05257
right hand side 141.9070 + 89.9073 + 4.03468 = 235.8490
Am=020259u allow e.c.£. from (i)
equivalent to 3.363 x 10% kg
E=3027x10" 7
=189 MeV

[Total: 16]
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